FEOTRIEU IV AR—YBEBEART) 75T /KK BRRARIRG &

Bis 20135458218 (B)
BB BHIOF—L (FTT—)L) 25m

53. XF 9~10i% 50m /\3T54

=i EFH g% Fh A4 L
1RA #FE HhE 10 35.76
NEXEF A= 9 36.32
3= EH e 10 36.97
4/hFF BEAR —%t 10 37.60
5|HE /MERTY F=) 10 38.70
6|=F HiE eI 9 39.87
1RK 8% HlE 9 40.30
8|¥AE #nFE e 10 47.00
M= ES T 10 47.58

10[JIIZR #kF F=) 9 48.75
HEZ ISR e 9 49.54
12(4E35 &E AE 9 51.92
13[/8H BEiR AE 10 51.94
14[FEE kX AFE 9 52.62
15|%F BE e 9 53.80
16[KiX =&/ £/:T 10 1:02.35

54. LF 11~12% 50m /N\32T754

g 15z EF4 FilE4 F#5 A4 L
1[KEZE A E 11 32.14
2|5 H ¥8 o B 12 32.29
3lAEME A#<Y e 11 33.02
Ala CCA A& 12 34.08
5| E #5iKk A E 11 34.78
6|FEL £5 BhAR 11 35.55
115F BB ENE 12 35.72
8| 2% FIF EHE 11 37.35
INE FH&H BEER 11 40.67

10[MME EE o & B3 11 43.69
11+ Bm F/;T 11 48.05




F67EEU NI RR—YBEARIYT T T KK REREIERL R

Bis 2013548218 (B)
B BHIOR—L (FTT—)L) 26m

55. BF 9~10m 50m /\32754

g 5z EF4 FiE% F#h LEPN
1[3LH R A= 10 31.53
2| K&E F0pE A E 9 33.15
3 R—Y HA REE 10 37.85
4{F E X BREER 9 37.96
5| £& (NS 9 39.99
6| &R X e 10 40.05
1= RE HiEE 9 40.92
s/ B (NS 10 41.30
I —%t 10 44.65
NEXSE J574 HBAE 9 46.15
11[#EK ZH5 NS 9 46.22
12|55H #iHN —%t 9 47.93
13[=F X e 10 48.12
14[#3F 5234 /5T 10 51.30
15[30:F —#% 70 & B 9 51.36
16|FEA #23h e 10 52.64

56. BF 11~12% 50m /\2754

JIE 2 EF4 FilE4 F 5 A4 Ls
N RERNED HEE 11 29.97
2|5 B8 AIE 11 31.67
3|RIR FEXK MK 12 33.07
A|EF B o B 12 33.88
5k f) EAR 11 34.20
6|FH 1HR BEHE 12 36.51
71YEHE Kib —%t 11 37.47
glfi AR A (NS 11 38.57
9|5 Rttt o & B 12 39.74

10{5h 4 fEA (NS 11 4113
11|FHFAR X e 11 42 14
12|f#%8 BEZ F=) 11 43.81




